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Answer Any Five Questions
Marks OBE
CO RB1
L Explain objectives of costing and briefly explain Standard cost, Marginal | [05] COl L
(@) | cost and components of cost.
. Explain why Costing and Estimation is necessary and with a neat COl L1
(b) diagram explain how selling price of a product is determined. [05]
2. Determine the material cost for figure shown below if density is | [10] COoz L3
7.009g/cc and material cost is Rs 20/Kg
2 o
i I Y O - B st
=
| 80 80 80
|
3.a) | Differentiate costing and estimation. [10] CO3 L4
b) | From the following data related to manufacturing a product, calculate
profit earned on each unit.
Raw materials used Rs.40,000/-
Direct wages Rs.24,000/-
Machine hours worked 9,500hrs
Machine hour rate Rs.4 per hour
Office overheads 20% of work cost
Selling overheads Rs.1 per unit
Units produced 20,000
Units sold 18,000 at Rs.10 per unit
4.a) | What is Financial planning and Profit planning? List and explain the [5] CO3 Lo
essentials of Financial planning.
b) Discuss types of budget and briefly explain flexible and fixed budget. [5]
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A person wants to buy home theatre system. He estimates it will last for 10 [10] Col L3
years. And after that, it will not have any salvage value. Showroom offers him
two alternatives to pay. Choose the best by AEW method. . (ROI=12%)

i) Pay Rs 1,00,000 immediately and Rs 50,000 at the end of 2™ year.

ii) Pay nothing until end of 4 years and make a single payment of Rs 2,50,000.

Draw a flexible budget for the following data for an efficiency of 100%, 80%, 60 [10] cO2 Ly |
plant capacity. The details of 100% efficiency is given below. Calculate cost per u
for different levels of activity. If the plant works with full efficiency, it can produ

12,000 units/month.

gticulars Cost/Unit(RY Particulars Cost/Unit(RS)
Material 50 VOH 14

| Labour 45 Administration | 50,000 (All fixed)

Expenses 12 Insurance 20,000
| Power (20% fixed) 70 Salary 75,000
| Maintenance (40% fixe{ 75
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